(648) (FE#x] (BE] [E#]
1 #FLAIX BF IN2
2 8N BF IN3 5%k 35.00
3 EA# BF /N3 4%k 31.00
4 EHFE BF N4 4R 27.00
5 Ki5iE % BF &2 5#% 23.00
6

(748) (FE#x] (BE] [E#]
1
2 EEFHth BF N 5%k 40.00
3 JLHiE B5F /M 6%k 45.00
4 BRIRER BF b))
5 WHERE BF %
6

(8] (FE#x] (HE] [E#]
1
2 hgIEBA BF —f% 4%k 35.00
3 RIHEBE B5F —f% 4%k 35.00
4
5
6

NO.7 200m{EAARL—

(148) (FE#x] (HE] [E#]
1 {E%E TF N2
2 HILSFMERD xF IN2 1% 4:31.00
3 BHIME ZF 12 %% 4:31.00
4 FINE TF IN3 1% 4:31.00
5 RLHEH TF /4 1#%  3:49.00
6

[248) (F2$%) (BE] [E#]
1 #BIIIFELE zF I\ 1#%  3:49.00
2 X)IlfE zF IN5
3EZtE zF /N6 1#%  3:28.00
4 iR zF ING
5 GEE zF el 1#%  3:28.00
6




NO.7 200m{EAARL—

[3#8) [E28%]) (®E] [E#]
1
2 =EKEH BF F2 1#%  3:00.00
3 ERDE BF 14 1% 3:49.00
4 HEISIE BF /M 1% 4:31.00
5 hEFEAN BF I3
6

NO.8 50m/\ 2754

(148) [Fo$%) (BE] [E#]
(S zF IN3 3%k  1:08.00
2 IE[RIE zF N3
3 EHAEHE B5F M
4 ZKE=1E BF INS
5 gz BF N6
6 PEEAAN BF N3

NO.9 50m3F jk¥

(148) [Fo8%) (HE] [E#]
1 BEFIF zF /N3 3%k 1:20.00
2 EEHTE zF N3
3 BREEE zF N3
4 #RTE zF N2
5 HARVED zF N3
6
[248) [FE#%] (HE] [E#]
1
2 FIE zF IN3
3 tEBEHAIE TF /4
4 5REZE zF INS
5 =iHEK zF IN5
6 IS EHMER zF N
[3#] [FE#%] (BE] [E#]
1
2 SEHEER B5F ) 3%k 1:28.00
3 REAFT N B5F Y
4 SR B5F N3
5 HIRIRE BF %]
6




NO.9 50mE k&

[44H] [E28%] (€] [E#]
1
2 KIEFE BF N3
3 &E/E BF 4
4 EREEL BF N4
5 FAER BF IS
6
[54H] [E28%] (€] [E#]
1 AKX BF N3 3%k 1:20.00
2
3 2)IFnEk BF N
4 ABRAE BF I
5 =K BF F2
6

NO.10 50miy k¥

(148) [Fo8%) (HE] [E#]
1
2 HEHTE zF N3
3 Rz xF /N3 3/ 1:12.00
4 $BIIFHE ZF )
5 LEIRFR TF /N6
6

[248) [F28%) (HE] [E#]
IRNSETL zF N3
2 E—1E zF M 3%}k 1:20.00
3 HIEH— ZF /M
4 1S5 1FE zF N2 3%k 1:12.00
5 BEIDME zF N2
6

[3#] [FE#%] (BE] [E#]
1 A BF N
2 SEHEER B5F ) 3%k 1:20.00
3 JERRFTA BF N2
4 HRIRE B5F N3
5 &8 BF /4
6




NO.10 50m%¥ k¥

[448) [EE%] (BE] [E#]
1
2 BIAEXR BF /N4 3%k 1:.04.00
JIZKE=1E BF IN5
4 FRiRE—HR B5F /N6 3%k 55.00
5
6
(548) [EE%] (BE] [E#]
1
2 HHER BF M
3 FERR B5F N
4 HEIZIE BF M
5 11O &R BF N2
6
[64] [G2%] (HE] [E#]
1 EREA BF N2
2 ILTFEE BF N2
3 ®MEZE B5F /N3
4 EMERE BF IN3
5 EERILE B5F /a4
6 SiEiE BF M

NO.11 50mB Bz (Ya—)L)

[148]) [E28%) (®E] [E#]
1
2 XKEETE ZF Y 3k 56.00
3 HEFIF TF N3 3k 1:03.00
4 BIEERE TF N3
5 JATEID TF zall
6

[248] [528%] (#®E] [E#F]
1
2 58FE TF NG
3 SHEK TF I\5
4
5 ML AKBEER TF 12
6




NO.11 50mB H# (Va—)L)

(3%A) (FE#x] (BE] [E#]
1 BIER xF /M
2 FAE ZF M
3 AR &R iH zF M
4 HITSFHER zF IN2
5 WTERE zF IN2 3#k  1:03.00
6 KEEAE zF IN5
[(448) (FE#x] (BE] [E#]
1 I8 EHih BF N 3%k 1:11.00
2 HIE BF N3
3 #)IEs BF 4
4 mAEELX BF N
5 ARERHE 5 B5F IN5
6 FTHEZE BF INS
(5%H] (FE#x] (HE] [E#]
1 ARERILIE BF N2
2 BEAKE BF N3 3%k  1:03.00
3 EIAAKX BF Y 3k 56.00
4 fli{= BF NG
5 FRRE—HR B5F 16 3k 49.00
6 SEERM BF NG
[64] (FE#x] (HE] [E#]
1 &hniE BF N2
2 /NLEEES BF N2
3 BN BF /N3 3%k  1:03.00
4 EXRIEE BF IN3 3k 56.00
5 BiEE BF N
6
[528%) (BE] [E#]
1
2
3
4
5
6

_‘]0_



